Find the value of x that makes the lines u and v
parallel.

2.

Gl _ IH  what additional information
JL LK

is necessary to show AGHI~A]KL by SAS?




Objectives

* Use properties of circles to derive the formula for sector area.
* Determine arc length and arc measure for given central and inscribed angle

measures

* Determine angle measures using the properties of interior angles.

Homework
Circle Packet, Sections I, II and III all problems

e —————————————————————————————



ALL Make Up Tests for the Log and Exponents Unit must be
completed by Monday November 17% .
No exceptions.

ALL Retakes for the Log and Exponents Unit must be
completed by Friday November 215

No exceptions.

You MUST bring your test corrections with you to be eligible for a retake.

UNIT TEST THIS FRIDAY

o ——————————————————————————————————



Homework review: Sections III, IV and V

Fill in the missing information in each proof. 5. Given: ZMNP=£0PN, and MN=0P

4, Given: GH=KL, 2G=2K, and GI=K] 0
N
G?\ K
H I ] /7 M
Prove: MP=NO
Prove: HI=L] 1 MNP=ZOPN | 1. Given
a =7 . UIVEn
el Reasons 2. MN=0P 2.Given
1. GH=KL 1. Given _— ,
2 G2k > Given 3. NP=NP 3.Reflexive Property
N i 4. AMNP=AOPN | 4.SAS
3. Gl=K] 3.Given 5. MP=NO 5. CPCTC
L AGHI=AKLJ | 4.5A5
5. HI=L] 5.CPCTC

le



Homework review

6. Given: ST=VU 7. Given: AC=CE, DC=BC
D
1 A
U C
S
B E
\%
Prove: 2SVT=2UTV Prove: £B=«£D
Statements Reasons Statements Reasons
1.ST=VU 1. Given 1.AC=CE 1.Given
2.TV=TV 2. Reflexive Property 2.DC=BC 2. Given
3. ASTV=AUVT |3.HL 3. £ACB=£DCE 3. Alternate Interior
4. /SVT=,UTV 4.CPCTC 4. AABC=ADEF 4. SAS
5.2B=2D 5.CPCTC




Homework review

8. Given: GHI|JT, [ is the midpoint of HK and

GH=]I

G

H K

Prove: £G=/]
StaEmfnts Reasons
1. GH||JI 1.Given
2.1is the midpoint of AR | 2.Given
3. GH=Jl 3. Given
4, HI=IK 4. Midpoint
5. 2GHI=2JIK 5. Corresponding
6. AGHI=AJIK 6. SAS
7. £G=4] 7.CPCTC

9. Given: MP=NP, MN_LOP

M

0 P

N
Prove: MO=0N
Statements Reasons
1.MP=NP 1. Given
2. MN.LOP 2. Given
3.0P=0P 3. Reflexive Property
4, ;ﬂOPﬂNOP 4, HL
5. MO=0 5.CPCTC
6

le



Homework review

Write a two column proof for each. 17. Given: £N2/P, zM=,Q, and MO=QR
16. Given: GH=]K, HI=KL, and IG=L] N p
H K
& & M Q
G J
| )
I L 5 4
Prove: £0=«£R
Prove: z1=2L Statements Reasons
Statements Reasons 1. £N=sP 1. Given
1. QH=JK 1. Given 2. ﬁELQ 2. GI':VE",VL
2. AI=RL 2. Given 3. MO=QR 3. Given
3. [G=[J 3. Given 4. AMNO=AQPR 4. AAS
4. AABCZAEDC 4. SSS 5. L0=4R 5. CPCTC
S, zl=zL 5. CPCTC

le



Homework revli_ew__

18. o
Given: 2U= 2V, £T=+2W, and TU=VW

AY

Prove: £5=«X

Statements Reasons
1. 2U=2V 1. Given
2. £T=LW 2. Given
3. TU=VW 3. Given
4. ASTUz=AWVX 4. ASA
5. 2S=¢/X 5. CPCTC

19. Given: AC=EF, and AB
E

A } C F D

Prove: BC=FD
_Stmf_emeﬁtg Reasons
1. AC=EF _ 1. Given
2. AB=/ED 2. Given
3, a._STU_EaWVX 3, HL
4. BC=FD 4. CPCTC




Homework review
20.

Given: GH=]I, 2GHJ=<«IJH -
21. Given: MN=NO, MP=0P
N

G - H

=
o

Prove: GJ=HI

Statewents Reasons - P
1. GH=JT 1. Given Pruviﬂiﬁim ReacOm
2. 2GHJ=2IUH |2, Given Mi MN=NO lmq:'vem
3. JH=JH 3. Reflexive Property > M_P‘;_P 2. Given
:. %}S%TMJH ‘; gégw; 3. NP=NP 3. Reflexive Property
' - ' 4. AMNP=AONP |4. SSS
5. £0=/M 5. CPCTC

@) 208

le



Homework review

22. Given: TU=WU, 2T=2£W
\
T
U
W
g
Prove: TS=WV
Stm:_eme_:rws Reasons
1. TU=WU 1. Given
2. 2T=2W 2. Given
3. £TUS=2£WUV | 3. Vertical Angles
4, AGHJ=AIJH | 4. ASA
5. TS=WV 5. CPCTC

23. Given: AB=DE, 2B=/E
B D
= C =
A E
Prove: AC=DC

Statements Reasons

1. AB=DE 1. Given

2. LB=LE 2. Given

3. LtBCA=¢+DCE | 3. Vertical Angles

4. AABC=ADEC | 4. AAS

5. AC=DC 5. CPCTC

le




Homework review

24. Given: HG||JT, GI=IK, and £HIG= £]KI

H J

Prove: £C=/F

Statements Reasons

1. HG|IJT 1. Given

2. gl=lk 2. Given

3. LHIG=2JKI 3. Given

4. tHGlI=2JIK  |4. Corresponding
4. AABC=ADEC |4. ASA

5. £C=LF 5. CPCTC

25 Given: MN=PO, MP=NO

Prove: ZM=,0

Stat_ameﬂts

Reasons

kN g
Y,
Z
[
1:1
z

1. Qiven

2. Given

3. Reflexive Property
4. SSS

5. CPCTC




Homework review

26. Given: TS||VW, TU=WU 27. Given: AB||DE, 2CBD=£ADB

T{\?\‘

S N /\\/
Prove: TS=VW Prove: BC=AD

Statements Reasons Stﬂﬁﬂﬂ.ﬂts Reasons

2. TU=WU 2. Given 2. tCBD=£ADB | 2. Given

3. .STU=2VWU | 3. Alternate Interior 3. £ABD=LCDB [ 3. Alternate Interior

4. ;TUS=,WUV | 4. Vertical 4. BD=BD 4. Reflexive Property

4. ASTU=AVWU |4. ASA 5. ASTU=AVWU| 5. ASA

5. TS=VW 5. CPCTC 205' BC=AD 6. CPCTC




Homewor

Each pair of figures is similar. Find the missing
length.

9. Ratio of similarity =2/3.

2 _ 8

3 X
2(x)=3(8)

11, Ratio of similarity =2/7.

X 2 _ X
7 18

7(x)=2(18)
IX=36
7 7
18 X=5.14

10. Ratio of similarity =4/5. )

4 _ X

12 5 ~ 12

5(x)=4(12)
Sx=48
5 5
X X=9.6

12. Ratio of similarity =5/13.

5 X
13 26

X 13(x)=5(26)
13x=130
13 13
X=10

26




13.

11

32

15.

e - X
11 32
11(x)=6(30)
X 11x=192
11 11
X=17.45
4 _ X
7 4
7(x)=4(49)
Tx=36
7 7
X=5.14

16.

15

14,

()
9/ 0 4 .10 -
12 X

4(x)=12(10)
Ax=120
9 q
Xx=13.33

12

2 _ S

15 T X
2(x)=15(5)

2X=75

2 2

X=37.5



b

Bubble the correct answer choice from each item above.

H#7. #8. #9. #10. #11. #12.
O A. OA. O A. OA. O A. OA.
OB. OB. (O B. OB. @B. @B.
@cC. OC. @c. @cC. OC. OC.
OD. ®D. OD. OD. QOD. OD.
Bubble the correct answer choice from each item above.
#25. #26. 27. #28. #29. #30.
O A. OA. ﬁ)ﬁ. @A OA. OA.
@B. OB. (O B. OB. O B. OB.
OC. éc. OC. OC. @c. OC.
OD. OD. @D. OD. OD. @D.
Bubble the correct answer choice from each item above.
#31. #32. #33. #34, #35. #36.
OA. OA. OA. OA. @ A @A
O B. (OB. OB. @s. OB. OB.
@cC OC. Oc. OC. OcC. OC.
OD. @D. @D. OD. OD. OD.




Homework review: Sections VI




Find x for each...

1
20=2x
2 2
10=x

X
20
3.
Corvesponding Angles
x=57°
.‘-";u
5.

17=x

x=2(14)
x=28

Corresponding Angles

x=49°

49

Corresponding Angles

x=71°

x=2(18)
X=B&

V74

®),

Homework review:

Mid-segment Theorem

30

174

13

15=x




/%

©®

))

Homework review:
Triangles Section 6

{6
ol

s e s e

4, Given: £G=£K, and £1=<L

| K
G H

I |
Prove: AGHI~AK]L

Statements | Reasons
1. £Gz=2K 1. Given
2.0z 2. Given

3. AGHI~aK]L 3. AA

6. Given:3T _ TU _ US
WV VX XWwW

b

Prove: ASTU~AWVX

Statements Reasons
ST _TU_Us .
l—z= —==— 1.G
WV VX VW ven
2ASTU~AWNVX | 2. 555

5. Given:MN_NO =+0Q
PQ QR

| /\
Prove: AMNO~APQR
Statements Reasons
MN_ NO .
1. PQ QR 1.Given
2. 2N=2£Q 2. Given
3. AMNO~APQR 3. 5AS
7. Given: AB _ BC _ AC
DE EF DF
B E
L>C F
A D
Prove: aABC~ADEF
Statements Reasons
AB _ BC_AC -
l'DE EF DF 1. Given
2. AABC~ADEF 2. 558




8. g,
Given: GKIH] I Given: MQIIOP
M 0
H - | N
G - K 0 P
Prove: AGIK~aAHI] Prove: AMNO~APON
Statements Reasons
Statements Reasons
1.GRIHJ 1. Given — _
2. 2K =sHII 2. Egrrespﬂnding A“g]es 1. MQIOF 1. Given .
3. £G=2]HI 3.Ur:ir‘r‘35j:i'f:rhdfh§ Ar@l’as 2. LQMN=20PN 2. Alternate Interior
4. AGIK~aHI] 4. AA 3. £tMNQ=£PNQO | 3. Vertical Angles
4. AGIK~AHI] 4 AA
I~ =

s e s e

{6
ol



\

|0

16.

Given: GH—G—I L LGl

JAAN

Prove: AGHI~a]JKL

Statements Reasons
4 GH_gl :
K 5T 1. Given

2. 20=2J 2. Given

3. AGHI~AIJH | 3. ASA

Prove: ASTU~AVWX

Statements Reasons
ST _TU .
w X 1. Given

2. 2 T=sW 2. GQiven

3. ASTU~AVWX] 5. SAS

17

" Given: eM=2P, £0=20)

\

—_

M /

0 N R Q

Prove: AOMN~ADBC

Statements | Reasons
1. tM=sP 1. Given
2. £0=20Q 2. Given
3. AGHJI~AIJH | 3. AA

19,

AB _BC _CA
FD ~ DE EF
B D

Given:

A F
Prove: AABC~AFDE
Statements Reasons
AB _BC_CA .
I === 1.
FD "DE gF | T @ver @ |
2. AABC~ADER 2. 555




o

))

€

200
Given: GK|IH]

\ K

Prove: AGIK~AHI]

Statements Reasomns

1. GRIHJ 1. Given

2. s0=sJHI 2.
Corresponding

3. cK=2HJI 3. Corresponding
4. AGKI~AHJ " 4. AA

©

21.
Given: N0 _ PO
Qo0 MO
'P
N
0
M Q
Prove: AMNO~aPQO
Statements Reasons
NO_ PO 1. Given

Q0 MO
2. tNOM=z=2POQ | 2. Vertical Angles
5. AMNO~APQO| 3. SAS




R

=

D)

\

o

22,
Given: £5=20TV

Prove: ASUW~aATUV

Statements Reasons

1. 28S=,UTV 1. Given

2. tU=zU 2. Reflexive Property
3. ASUW~ATUV|SE. AA

24.
Given: GH|TR

H

Prove: AGHI~AK]I
Statements Reasons

1. GHIJK 1. Given

2. sHGI=2JKI | 2. Alternate Interior
3. cGIH=2JIK | 5. Vertical

4, AGHI~AKJl | 4. AA

23.

Given: AB|DC, ZACB=2£F

A

B C E
Prove: AABC~ADCE
e Reasons
1. ABIDC 1. Given
2. tACB=2E 2. Given
5. ¢B=¢DCE 5. Corvesponding
4, AABC~ADCE| 4. AA

25.
Given: MQ|INP

M

IJ

Prove: AQMO~APNO

Statements Reasons
1. MQINP 1. Given
2. tM=£PNO [ Corresponding
3. £Q=sNPO 3. Corresponding

4. AQMO~AFPNO

. AR

©




o

26.

Given: AABD and ABCD are equilateral

T

/N

Prove: ASTU~AVWX

Statements

W
v X

Reasons

1, £5=sV
2. £T=sW
5, LU= X
3. ASTU~AVIWX

&)

1. Equilateral Triangle
2. Equilateral Triangle
3. Equilateral Triangle
3. AAA

)

27.
Given: ﬁ =£.;ﬁllﬁ
DC  CE
B
D

A E

Prove: ﬂHHC“E_‘-.EDE
Statements Reagons

AR AQ .
1. = = 1.

DC - CE aiven
2. ABICD 2. Given
2. tA=2DCB 2. Corresponding
3. AGHJ~AIJH| 3. SAS




- ©

Circles: Just what are they good for?

Apparently these people found a good use for them!

We will find even better uses for circles.




/%

- © The GUTS of a circle...

Circumference

)

C=2nr
Area

A= mnr

2

Diameter

Divides the circle into two equal parts.

Radius

Straight line connecting the center to the edge of the circle.

Half the length of the diameter.

- M il

e s L e _ _ . . e > e et g



e

-." ) .
C

The GUTS of a circle...

Radius

Every radius in the same circle is
equal to all the other radii in the
same circle.

So what is the value of x?

He S 2 =y
xX-—8




e

{1 Q@
E] Z

A

The GUTS of a circle...

Chord -
Line drawn inside the circle that

touches the circle at its endpoints.

Chords are named by their end D
points. C




Circles guts

Central Angle

Vertex is the center of the circle and
it extends to the edge of the circle. A B

£LABC is a central angle




Circles guts

Inscribed Angle

Vertex is on the edge of the circle
and extends inward to the opposite D
edge of the circle.

£DEF is an inscribed angle




Quick Check

What is the circumference of a circle?

Did you say “pi are squared”?
WRONG

P ® Pie are round!



Circles guts

C
Y =
Arc
Part of the circumference cut off by
A

an angle.

An Arc can be referred to by its

measure OY its length.

The measure of an Arcs 1s based on

the central angle that intercepts the
Arc.

mac = 45

RIPS o o - s s s Lt

(\




Circles guts

C
Arc r =
The length of an Arc is based on its
A

portion of the circumference.

What percentage of this circle’s
circumference does this arc represent?

part 45 1
percent = = = —

®
5
whole 360 8

The arc length is equal to this percentage R l N 1 SN E
time the circumference of the circle. LS 8 A0E = g 2m(5) 4 T[Q




| =

Circles guts

Sectors

A sector is like a pizza slice. Itis a
portion of the area of a circle.

What percentage of this circle’s area does
this sector represent?

T part. 20 1
EEE S Shole 360 4

The sector area 1s equal to this percentage
time the area of the circle.

P o o L e e L At e o s e e

25) .
— |



Central Angles vs. Inscribed Angles

A 80°

A central angle is equal to the

measure of its intercepted arc.

m<AOB = mAB = 80°

B

A 100°

An inscribed angle is equal to one
half the measure of its intercepted
arc.

Y RG
m+sLABC = —mAC = 50°
2 ®

e ——————————————————————



x =113

Find X (no pointing)

2.

124°

Y

x =192




Use the properties we just discussed to find the measure of angle ABC.

What do you notice about angle ABC
and angle ADC?

They intercept the same arc!

How does that help you determine the
value of x?

Because they intercept the same arc the
two angles have the same measure.

Therefore the measure of angle ABC is also 81°.




More Inside Angles.

But first a word about Tangent E

tangents In geometry, the tangent line (or simply tangent) to a plane B
curve at a given point is the straight line that "just touches”

; the curve at that point. Informally, it is a line through a pair =
of infinitely close points on the curve.
Tangent Line '

f:% Point of Tangency B

FiTie it




® ’ ®
~ There is a special relationship between tangents and the arcs they intercept.

Notice these angles are inside the circlel




e

®
Write this formula down. It’s not in your packet. (It’s in your study guide)

Tangent Chord Angle = % Intercepted arc

Lo
LMLK = E‘mKL

—1 130
_f( )

= 65

T ——



You try these two...

E.l

Find the measure

of major arc GF =
208 ®

P P o g - g T e s e SIS L L L et e L S e e e

73

-



)
Lets talk about angles formed by two intersecting chords.
> We can use the intercepted arcs to find
70°
c ‘L angle measures.
D
' Angle formed 1inside by intersecting chords
1700 = 2 Sum of intersected arcs
A 7
TR 2y
£BED = > (mAC + mBD)
1
= (170 + 70)
=120
-



\:‘/f;\ ]

Sometimes we have to work backward

:r_[]l:-

Find mBC

A E
' oo
‘ £/BDC = = (mBC + mAE)

“

7

[

85 =

2
1
> (mBC + 70)

170 = mBC + 70

100 = mBC

Use the formula

Fill in what you know

Solve for what
you don’t know

e ———————————————————————————————



©
You try this one

Find mUT
1 N
£UST = - (mUT + mVA)
Lo
120 = - (0T + 60)

240 = mUT + 60

180 = mUT

Use the formula

Fill in what you know

Solve for what
you don’t know




To Summarize

Central Inscribed Intersecting Tangent b
Angle Angle Chord Angle

Angles




PERFECT PRACTICE MAKES PERFECT! »
Work on your Circles packet.

Problems 24-31 in your study guide

If you finish it today’s assighment before you leave, you
can accumulate credits for a 2 point addition to your unit
test grade.

You’ll need 5 credits for 2 points.



